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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)85 (B)95 (C)90 (D) 48 (E)None

Q.24 :-A gardener sprinkle water and nourish his grass field regularly. The grass grows at a 
certain rate so that 60 cows can graze the field completely in 20 days , 50 cows can graze the 
same field in 30 days then find that in how many cows will needed to graze the whole field 
in 10 days?
एकमाली नियनमतरूप से अपिे घास के मैदािका पोषणकरता है और पािी निड़कता है। घास
एक निनित दर से बढ़ती है निससे 60 गाय 20 नदिो ों में पूरी तरह से खेतको चर सकती है, 50 गाय
उसी खेतको 30 नदिो ों में चर सकती हैं, निर यह पता करें नक 10 नदिो ों में पूरे खेतको चरािे के
नलए नकतिी गायो ोंकी िरूरत होगी?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)179.44 (B)174.26 (C) 189.66 (D)181.84 (E)None of these

What value should come in the place of question mark(?)in the following questions?

2.8% of 2580 + 16% of 685 = ?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)45 (B)47 (C)46 (D)48 (E)None of these

What value should come in the place of question mark(?)in the following questions?

5376 ÷ 24 × 13 − 703 = ?² − 95 

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)1084 (B) 1089 (C)1092 (D)1099 (E)None of these

What value should come in the place of question mark(?)in the following questions?

(153 × 1331 ) ÷ (11 × 17 ) = ?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A) 20 (B)19.5 (C)18.75 (D)20.25 (E)None of these

What value should come in the place of question mark(?)in the following questions?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)632 (B)593 (C)648 (D)678 (E)None of these

What value should come in the place of question mark(?)in the following questions?

18³− 72² = ?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A) 232 (B)234 (C) 212 (D)219 (E)None of these

What value should come in the place of question mark(?)in the following questions?

84²− 72² = ? % of 800

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)7 (B)8 (C)9 (D)11 (E)None of these

What value should come in the place of question mark(?)in the following questions?

143 × 15 − 173 × 12 = ?² − 12 

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)28.25 (B)24.625 (C)28.125 (D)28.875 (E)None of these

What value should come in the place of question mark(?)in the following questions?

87.5% of 420 − 85% of 300 = ? % of 400

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)17/32 (B)21/32 (C)27/32 (D)9/16 (E)None of these

What value should come in the place of question mark(?)in the following questions?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)117.39 (B)119.39 (C) 120.39 (D)118.39 (E)None of these

What value should come in the place of question mark(?)in the following questions?

34.01 + 76.02 + 21.62 + 12.16 − 24.42 = ?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

11 . 499 , 622 , 868 , 1237 , 1729 , 2344 , ? 

(A)3240 (B)3020 (C)3082 (D)2782 (E)3324

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

12 . 529 , 841 , 961 , 1369 , 1681 , 1849 , ? 

(A)2449 (B) 2378 (C)2219 (D)2525 (E)2209

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

13 . 20 , 24 , 33 , 49 , 74  , 110 , ? 

(A)159 (B)149 (C)301 (D)241 (E)None of these

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

14 . 16 , 24 , 48 , 120 , 360 , 1260 , ?

(A) 2015 (B)4088 (C)5040 (D)5127 (E)5225

E04613

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

15.  8 , 31 , 122 , 485 , 1936 , 7739 , ?

(A)38970 (B) 12780 (C)30950 (D)42320 (E)35250

E04613
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Directions (Q. 1-5):-Study the following graph carefully to answer the question: (The 

data below is given in hundreds)

प्रश्न का उत्तर देिे के नलए निम्ननलखखत ग्राि काध्यािपूर्वक अध्ययिकरें : (िीचे नदया गया डेटा

सैकड़ो ों में नदया गया है)

The graph shows the number of bike sold from two shops.

ग्राि दो दुकािो ों से बेची गई बाइक की सोंख्या को दर्ावता है।
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)1867 (B)1826 (C ) 1838 (D)1857 (E)1860

Q.1 :-What is the approximate average number of bikes sold by Shop B during all the days 
together?
र्ॉप B द्वारा सभी नदिो ों में एकसाथ बेची िािे र्ाली बाइक्सकीअिुमानितऔसतसोंख्याक्या है?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)15% (B) 11% (C )18% (D)9% (E)20%

Q.2 :-The number of bikes sold by Shop B on Friday is what percent of the total number of 
bikes sold by both Shop A and B on all the days together? (Rounded off to the nearest 
integer)
र्ॉप B द्वारा रु्क्रर्ारको बेची गई बाइक्सकीसोंख्या, र्ॉपA और B दोिो ों द्वारा बेची गई बाइक्स
की कुलसोंख्याका सभी प्रनतर्त एकसाथ नकतिे नदिो ों में है? (निकटतम पूणाांक तक)
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)2:3 (B)3:4 (C )4:3 (D) 5:4 (E)7:2

Q.3 :-What is the respective ratio of the number of bikes sold by Shop A on Thursday to the 
number of bikes sold by Shop B on Monday?
र्ॉपA द्वारा गुरुर्ारको बेची गई बाइक्सकीसोंख्याका सोंबोंनितअिुपात सोमर्ारकोर्ॉप B द्वारा
बेची गई बाइक्सकीसोंख्या सेक्या है?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)13:15 (B)16:19 (C )19:15 (D) 19:17 (E)17:21

Q.4 :-What is the respective ratio of the total number of bikes sold on Friday to the total 
number of bikes sold on Thursday?
रु्क्रर्ारको बेची गई बाइककी कुलसोंख्या गुरुर्ार को बेची गई बाइककी कुलसोंख्याका
सोंबोंनितअिुपातक्या है?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)125.34% (B)132.67% (C ) 143.89% (D) 140% (E)138.5%

Q.5 :-The total bikes sold by Shop B on all days excluding Wednesday is what percent of the 
total number of bikes sold on Thursday, Friday and Saturday together?
र्ॉप B द्वारा बुिर्ारको िोड़करसभी नदिो ों में बेची गई कुल बाइक्स गुरुर्ार, रु्क्रर्ारऔर
र्निर्ारको एकसाथ नबकिे र्ाली बाइको ोंकी कुलसोंख्याका नकतिा प्रनतर्त है?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)11 (B)12 (C )13 (D)18 (E)9

Q.1 :-At present, the sum of ages of 4 people is 76. After 7 years, the ratio will be 7:6:5:8. 
Find out the present age of C?
र्तवमाि में, 4 लोगो ोंकीआयु का योग 76 है।7 र्षों के बाद, अिुपात 7: 6: 5: 8 होगा।C की र्तवमाि
आयु ज्ञातकीनिये?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)5000 (B)5800 (C )4800 (D)6000 (E)None

Q.2 :-In a business, A invested 1200 Rs more than B. B invested his amount for 15 months 
while A invested for 4 months more than that of B. If total profit was 1240 Rs in which the 
profit of B is 280 Rs. less than that if A. then what was the invested amount of A?
एकव्यर्सायमें, A िे B से 1200 रुपये अनिकका निरे्र् नकया। B िे अपिी रानर्को 15 महीिे
के नलए निरे्र् नकया, िबनकA िे B की तुलिा में 4 महीिे के नलएअनिक निरे्र् नकया। यनद कुल
लाभ 1240 रुपये था, निसमें B कालाभ 280 रुपये A से कम है। तबA की निरे्नर्त रानर् ज्ञात
कीनिये?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A) 5720 (B)5520 (C )5862 (D)6234 (E)None

Q.3 :-Marked price of an article is 1600 Rs. More than the cost price. When the same article 
is sold at a discount of Rs. 500 then the percent profit earned is 25%. For earning a profit of
30%, the article should be sold at what price?
एकर्सु्तकी नचनितकीमतलागत मूल्य से 1600 रुपये अनिक है। िबउसी र्सु्त को 500 रुपये की
िूट पर बेचा िाता है तो अनिवत लाभ 25% है। 30% कालाभकमािे के नलए, र्सु्तको नकस मूल्य
पर बेचा िािा चानहए?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)2500 (B)2800 (C )2600 (D)3000 (E)None

Q.4 :-The difference between Simple Interest and Compound Interest at the rate of 12% on 
the same amount for 3 years is Rs. 112.32. What is the principal amount if interest is 
compounded annually?
3 साल के नलए एकही रानर् पर 12% की दर से सािारणब्यािऔरचक्ररृ्खिब्याि के बीचका
अोंतर रु 112.32| यनदब्यािसालािा नमलता है, तो मूल रानर् ज्ञातकीनिये?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A) 58 (B)60 (C )62 (D)68 (E)72

Q.5 :-The ratio of the speed of two trains is 5:8. Sum of their length is 660. The ratio of time 
taken to cross an Electric Pole by train A and B is 4:3. What is the difference between the 
lengths of two trains?
दो टर ेिो ों की गनतकाअिुपात 5: 8 है। उिकी लोंबाईका योग 660 है। टर ेिA और B द्वारा इलेखररक
पोलको पारकरिे में लगिे र्ाले समयकाअिुपात 4: 3 है। दो टर ेिो ोंकी लोंबाई में क्या अोंतर है?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)30lit (B)40lit (C )50lit (D)56lit (E)60lit

Q.16 :-A vessel contains milk and water in which 20% water. 20 litre of mixture was taken 
and replaced by water and the ratio becomes 12: 13. Then find the initial quantity of milk in 
the vessel.
एकबतवि में दूिऔर पािी रखा है| निसमें 20% पािी है। 20 लीटर नमश्रणको निकाला िाता है
औरइसे पािी से बदल नदया िाता है, तो िया अिुपात 12: 13 हो िाता है। तो बतवि में दूिकी
प्रारों नभकमात्रा ज्ञातकरें।
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A) 98 (B)100 (C )101 (D)99 (E)102

Q.17 :-The average wage of a worker during a fortnight comprising 15 consecutive working 
days was Rs. 95 per day. During the first 7 days, his average was Rs. 92 per day and the 
average wage during the last 7 days was Rs. 97 per day. What was his wage on 8th day?
एकपखर्ाडे़ 15 कायव नदर्स के दौराि एकमज़दूरकीऔसतमिदूरी 95 रुथी । निसमें पहले 7 
नदिो ों के दौराि, उिकाऔसतप्रनत नदि 92रुऔरअोंनतम 7 नदिो ों के दौरािऔसत रे्ति प्रनत नदि
97रुथा । 8 र्ें नदिकी उसकी मिदूरीक्या थी?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)800 (B)400 (C )600 (D)650 (E)None

Q.18 :-Two pipes can fill a cistern separately in 24 min and 40 minute respectively. Waste 
pipe is opened which can drain the cistern at 30 liters/minute. If all the pipe are opened 
together then the cistern fills in one hour. The capacity (in litre) of the cistern is?
दो पाइपक्रमर्ः 24 नमिटऔर 40 नमिट में अलग-2  एक कुों डको भरसकते हैं। अपनर्ष्टपाइप
खोला िाता है, िो 30 लीटर / नमिटकी दर से पािी की निकासीकरसकता है। यनदसभी पाइप
एकसाथखोले िाते हैं तो एकघोंटे में कुों ड भरिाता है। कुों ड की क्षमता (लीटर में) है?
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THANKS
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